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sin 2xdx

v3—cos*x
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= —arcsin— + C = —arcsin +C.
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1. ‘[(tgx+ctgx)2dx. Ortger: 1gx —ctgx + C (x¢%,n62).
Z.I_dx . Ortser: llntg3 +C xiﬂ,nez .
sin 3x 3 2 3
3. J‘L Ortser: tg£+C (x¢7r+27zn,neZ).
1+ cosx 2
4. J‘L Orger: zarctg 1 +C.
5+4cosx 3 3 2
x
5. J‘L Ortser: —arcth+C.
3+sinx NG 232
6. J‘L Ortser: Llntg(£+£) +C (x¢—£+7m,neZ).
sin x + cos x 2 2 8 4
x
7. J‘ x : Ortser: arctg 4tg5+1 +C.
sinx+2cosx+6 V31 V31
tg£+l
8. '[ - e . Orser: «/Earctg 2 _,c.
2+sinx+cosx V2

e

sin xdx 1 ——— 1
—— . OTBCTI - 1+6COSX+C _.
'[\/1+6cosx 3 [cosx> 6)
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j% (tgx >0) .

OrtserT:

J sin 3x cos 2xdx .

Icos 4xcos2xdx .

|t +t«/—+1| 1 N2

2J— -2 2

J‘cos X CO0S2xcos3xdx .

Ortser: — icos 2x + icos 4x + Lcos 6x —
16 64

rctg2—1+C,t =1gx.
t —_

cosS5x cosx

10 2

+C.

OtBer: —

OrtBeT: ésin 6x + lsin 2x+C.

OrtBeT: lx+lsin 2x+isin 4x+isin 6x+C.
4 8 16 24

J‘sin3 (2x)cos®(3x )dx.

1
- ——cos12x+C.
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——l |smx 1|+C (x:t%,neZJ.

2sinx 4 |smx+ l|

J—= '
- - . OtBeT: —
sin xsin 2x
J dx
sin(x + l)sin(x +7)
|sm
OtBeT: — l
si | sm
J‘ dx
cos(x — l)cos(x +2)
OrtBeT: — |COS + 2)
sin3 | cos x-— 1)
dx
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OrTBeT:

sin x —sin4
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sin

2

cos4

x+4

Z))|+C (x+1#myx+7# wk,nkeZ).

|+C(x—l¢£+7zn;x+2¢%+zzk,n,kez).
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iC (x—4¢2zzn;x+4¢7r+2izk,n,keZ).
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dx
19. .[—
COSX —COS3
.x=3
sin ——
OrBeT: In 2 lic (x—3¢27zn;x+3¢2ﬂk,n,keZ).
sin3 x+3
20. IL Sx# X _l+2mdx Ll 2dk,nkeZ |
sin 5x —cosl 2 2
5x—£+1
R PR
OtBer: —|n 2 +C.
Ssinl 5x+£—1
00572
2

&

1
21. Im Ortser: ﬁarctg(ﬁtgx)+ C.

1 1gx
Otser: —arctg| == |+ C.
V2 ( J

V2

&

22. I—Z
1+cos” x

dx T V.4
23.j X#F——+myx+—+ak,nkeZ
1+ 1gx 4 2
1 : 1
OtBeT: —ln|sm X + Cos x‘ + Ex +C.
M| dx
1+ctgx
1 1 ) T
OtBer: Ex—51n|smx+cosx|+C x¢—z+7zn;x¢7zk,n,keZ :
cos*x cos®x
25. J‘sin3 xcos’ xdx. Otset: — +C.

26. Isin(’xdx. OTBeT: ix—lsin2x+isin4x+Lsin3 2x+C.
16 4 64 48



§5. Humezpuposanue mpuzonomempuieckux QyHkyuii 155
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40.

Orser: %tg4x—%tg2x—ln|cosx| +C (x # %+7zn,n € Z).

5
cos’ x 1 . sin® x
j — dx. OtBeT: — —— —2sinx + +C (xiﬂn,neZ).
sin” x sin x
:.5
sin’x w
I ;—dx . Otser: = —cosx+C |x#—+mneZ)|.
cos” x 3cos"x cCcOSx 2
dx 7
J‘ﬁ' Orser: 1 _ C?Sf +ilntg£+C x#—,neZ|.
sin” xcos” x cosx 2sin“x 2 2 2

1 CcoS X

dx m
J‘ﬁ x+t—,ne’|.
sin” xXCos” x 2

coS x 3 cosx 15

Ortser: —
cosx 2sin

J‘ dx
" J7cos® x+16sin’ x

J‘ dx
" J5c0s2 x+9sin’ x

sz cos xdx .
Jez" sin(e" )dx.
J(x + 2)cos(x2 +4x + l)dx.

. I(xz +2x +3)cos xdx .

jx sin(x? Jdx .

+—In +C.

x 4sin*x 8sin’x 8

W
g2

1 4t
Ortser: arctg &, c.

47 V7

1
Orger: arctg Sigx +C.

345 J5

Jsin\/;dx. Orser: — 2+/x cos+/x +2sin~/x +C (x>0).

Ixsin3 xdx. Otser: ésinx—ixcosx—Lsin?)x+Lxcos3x+ C.
4 4 36 12

Orser: x” sinx + 2(xcosx —sinx)+ C.
Orser: sin(e" )— e’ cos(e" )+ C.

Orger: %sin(xz +4x + 1)+ C.

omser: (x+1)° sinx+2(x +1)cosx + C.

OrtBeT: — %COS()C2 )+ C.
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41. ‘[ x zx : Ortser: —xctgx+ln|smx|+C (x # mM,n € Z).
sin” x
xdx
42. .
Isin“x
Orser: %(— x~ct(2gx -3 ‘1 — — 2xctgx + 2Inlsin x|)+C (x#mneZz).
sin“x 2sin’x
cos xdx . sinx+2 )
43. I al . OtBeT: arcsmL +C (smx < «/g - 2).
J1-4sinx+cos® x J6
dx 2 )
4. | Otser: — 24/ctgx + =+/tg’x +C (Sln 2x > 0).
Jsin® xcos® x 3

45. J.\/ cos 2x sin xdx .
Otser: — %cos x+/cos2x — g ln‘\/E COS X ++/cos 2x’ +C (cos 2x>0).
46. j Acos2x cosxdx .

Orser: %sin x+/cos2x + garcsin(ﬁ sin x)+ C (cos2x>0).

j l+sinx

COS x+/COS 2x
2sinx —1

. Vg
Otger: arcsm_)+C (x # 5+7m,n € Z;cos2x > Oj.

ﬁ(l—sinx

47. dx .

sin? xdx
48. J.—Z
l+sin® x

1 Vs
OrtBer: X ———arct «/Etx+C xX#—+mmnel|.
N} <21 ( 2 )

sin xdx
49, j : .
2sinx +3cosx

Orger: Ex—iln|25inx+?>cosx|+c (2sinx +3cosx #0).
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sin xdx
50. [—; .
cos“x—3cosx+2

OTBeT: lan_l’+C (x¢27zn,neZ).
cosx—2
51. I > cos xdx (x¢7z+27zn,neZ).
cos”  x—5cosx+6

3 x 4 X
OtBer: — ——=arctg \/Etg —) + — arctg(\/gtg —j +C.
V2 ( 2) 3 2

dx 1
OtBeT: ——arctg

5. | —F""—F1. +C.
jsin4x+cos4x V2 (\/E)

j sin xdx

V4 .
83 |———>— (x¢——+7zn,neZ;smx>0).
sin” x4+ Cos” x 4
o lln|(sinx+cosx)2| 1 arctg 2cosx —sinx e
TBET: — — -— —_— .
’ 1—sinxcosx ’ \/5 \/sin x
dx
54. j . : .
sin” x—5sinx+6
X X
3ig——1 ) 2tg ——1
Otser: ——=arctg — =+ ——=arctg——=——+C.

V2 22 3 V3

j sinx +cosx+1

55 : dx (2sinx+cosx #-2;x = n+2mneZ).
2sinx+cosx+2
x
3 1 1 tg—+1
OrtBeT: —x+—ln|2sinx+cosx+2|——ln +C.
> > tg£+3
2
56. Iﬂdx Otger: —ln(cosz+\/l+cos4x)+C.

v1+cos* x



